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F—EF RiEEW

BB AR B, — K 4~5 BXEER 100 LR, F 20 18, 3 40
S REFRELXETSSBRERNNS. TEFZRELBRAKER EFEXERE . HN
AR RTINS0 N . ARERZENEERSAEEFRAL EE IREIRE
B, RN EEREAMN K EEROESE LF . XA B At eFR/RETEE —E
MTHR ERMFEBFTMRMBEFTHEN TGS HEHTK.

F—F HEERER

1. AiRERHES ML

FRAME - FENBEEARLXWYXFEFMB(ETARERABEFEM S SRATRY
30), BEEFER. B AMBARE LT, ANEEESEAEIRTHEE LR EAREBN
FEENBE. BBIEMR, EANE.

() BEEEEY;

(2) BFEXPHREEE;

3) BBXPHBMEEST N,

(4) HATH XKW HEHEMT P ;

(5) WMTFT XA RS XL

(6) B X ENLEEHURAMZE BEZHBLE;

(D) BBREENEE REARSE;

(8) X4 E M.

B CEFRARIL 4 R3CE, RN 1600 i, 3t 20 1,40 4 B EERRERLE 0% L.
ERFER, AEERRIR T RENANESTZE.

2. HEERHNRAER

¥ D & AR B R R0 LA ST, BATTRT LU W AT AR AR
(D) L EEEA

(2) AT LR

(3) ¥ ia SRR

(4) MEH) PR R AY

(5) #HEBmA

(6) I by R 724



A IR KR 0 AR ROk A AT, B R R R A EER X E A = E A AT IR

(1) HEEEAH

(2) FEET

(3) HiEEE

B R R R BG4 o 60 R LA b, [m) B SR B A B HE AR, I BT RBESE SRR L X
AMEEREERFHELMWETEM FANEREALE - FTHRERTT  ABEEERKIE. 2.
BEEEERHE. '

BMEMFERARE, KEIFENMRAAIEERAETEFRRAE L REBRTFORSG. o HHEH
RANEMRZREMEITNIIG, PHAFRRRBTFNREI R, BEEEERORZETEN
B, HEEEMERERER T RS

FREBOAEIR, EE - SHRERT, AN ELE I THRENGT . R—EEKAK
REFHERN R EREMEMEES, LT USGR.

3. YIERIERFEIR

MTFEERU, BERRBRERS. BT RELETMESTEM, S ATLMIEEER, IR —
ERHRAREEN - FTELSEBERORIETE.

ARFHNESIRE . HFERE. Rk, Kk, MR LHEs. 0. S TREFAM
BRANRE. FRNFMEIERANEW T X AWM ZEFENERYEE, MHSLEmD %
Bt

4. R ERNRIES &

— ORI IR R FE AR EE S, TURAR R R ET L, CEIESERSEH T O
AR BB Ty o W T AR R .

BTR—-RXENEEAE TRABEN T ERBRERENER KRERNE
BOBTRAFENG K BEFEERBEEXTAR, AL ATHRITS X, M % %8R HE
BRI IR BRI AL MR H BB AR IS, AT A C BB MA, E R A
PRSHER BT BT .

RESBFEERGSERILAEET R, ‘B REN RS, MEXERLKE;
‘FERE S EEHERNIANE AFHBRE DL #— S FH LT U8 LR AT
REE FRUEEEBRR GRS, XN R AR S A LB EEREL. LKL, B
HERE R E.

5. REERHMBEES

FERE ¥ L, 7R FA MG 15 % i 3% (phrase reading) , BIZE [ iEM B F ARG LN F R
BEREER GNP OB, ARSI REN Y HEE AT, UEREE
:F 2

BERA LTI LGSR,

(1 WREE, HRER.,

(2) PR, FRAE, BTFEE 012 00T R— B XEHNEE, RN ERNE
— 2 —_



B, R R E X EEERBAR TR, AIRMEEEFR . EBEXHESHAE, BEEM
HXR@E G, A BRGEIF L MG R F A BB A4 7, 7T LUE R 2Bkt s # A B F Xk
) 3R] 5 HE T R S SR RRIA I L

Q) MERR,Z—FE. REXEER EHANAE, X ERMBRE T ENERHGR
B IANEE S, MERRIE 2,

(O HEL0MRER. WEEZE,ECH A, B ZIEE X ERE—R X R E
XBE AR . GHEF—ZETH, TLH— i&i%%Fmﬁ PHRIAFRBEHLEN
ER.

FELFCHE, RETEMEGEREE AN F-BXENEREATES, X2
L EREMERMRNEM.

. RAEERER

RIEKXAER, HEREHE LT E.

L AoEMER, #¥U T8 6E.

Boark.

What is the subject of this passage?

Which of the following best reflects the main idea of the passage?
What is the best title for this passage?

What is the main topic for this passage?

Which of the following statements best summarizes this passage?

What is the main point the author makes in the passage?

N os w e e

. With what topic is the passage primarily concerned?
HEAER .

The best title of this passage is

The central idea of this passage is

This article is mainly about

This passage discusses

This passage mainly deals with

The passage was written to explain
The title that best expresses the ideas of the passage is

The author’s purpose in writing this passage is

The best summary of the passage is .

10. Choose the title that best expresses the ideas of the passage

11. The proper subject of this article is

*IL‘EEEEEEEﬁE*tﬂﬂEHﬁﬁ$ﬁE JLSFEETM‘%HQWQ XERRPLEE
BB R X B F AL BE TR, MERXENEENKERFTMIZENTER
. EREMIMEXENEMH.L, GRTHEEERB TR HRANES . BT, B4
A HERES .



RSN, XEAXENPLO,BRERFREN PO, TUAN LEER B XE
R, EHHR M E—BREREEN, NEFEERNEHNXBRER D XEN EEH
BB ¥ B9 £ A] (Topic Sentence) , E—MEXEMEH A REH, AR XEN S LERREHF
WERBRS. E—BUTERE.SBRERRSBRS  REEXNBCERENPLEBENELT
B, EERNNENTERA, AN ERERE AREBENTESH.,

2. MARKEEB, £ HXEP FERREF R -RIIFIEMLERZTHACHIL SR
MEARESE, BAWMNXLEAEHAE, QEMIE. TEFTNEXAT THRESRERL,ER
RERZI MM X ER P OEBR, XXEEAEEH who, what, where, when, why, how %5t
B RIR 5| 2
Which of the following statements is (not) true?

Which of the following best supports the idea of the passage?
Which of the following is (not) included in the article?
Which of the following is (not) mentioned in the article?

It is suggested in the passage that _

The author states all of the items listed below except that

What is the purpose of ?

© NS e W

. What is the meaning of 7

XF FiX 25 6] & !lﬂ)’(ﬁ¢ﬁ8ﬂtﬂ$i*ﬂéﬂﬁ? AR EATLEENFRBIER. H
RINRE AR BB BRAR SR A A9 552, T A2 18] 8 8 P ) SCHA) 3RS R) B9 4 3 3 0 23K Bk
& BRI TR R R, F R A RS IR IR ROTE, RS E T LY
KA, AREEAFH LT ERLFHEEABLBARNENEL T ELBE,

3. MMAXER, ERERE T  BELEHNAXWER, —E 2 B L. X
EEREEFABN . ERRUERNRNEATEE RS- BB RS REHAY, £ 5
METFXAENRR WEARRAEET. SMEHERANERTRE .

By  the author means
Which of the following is closest in meaning to 7
According to the author, the word ___means

The word most probably means

The word/phrase refers to

By the word the author intends to render the idea that
The word can best be replaced by
From the passage, we can infer that the word is

Which is the probable definition of the word ?

10. The phrase in the passage suggests

HEREL RS, RA] E%Aﬁ@@ﬂ:ﬁﬁxmmﬁ&ﬂﬁ] — SR U, 40 SRAS B3 A B w it
XEAEER, TLUMUZE ., MRS RBREEN CE W ER, BRI 1E B A R 15, 4% 5
RN EFXRAMAREAEEBHAL, (BH.=. ABBEHED)

4. MUHERER, TR P X T R LR — R B A T, 0 A B B R th 5 4
CHER—F S8 ETXRETANZELERMURE. XK — AT LA KB
— 4 J—



(D EFaF2Z B S B %28 X R A AL,
(2) X & A FZ AR RBWIE .
XARREH AR e 7.
1. Which of the following best describes the author’s method?
2. The author develops the thesis primarily by ...
3. It can be assumed that the paragraph preceding (following) the passage most proba-
bly discusses. ..
. The paragraph preceding (following) this one probably talks. ..
. In line..., the word “it” can be substituted by. ..

4
5
6. In paragraph..., “they” stands for (refers to)...
7. The word “one” in line. . . could best be replaced by which of the following words?
8.

In paragraph. .. line... ,the pronoun “. .. ” refers to.

MTXRESERERE, BRENH— “ﬁﬁ?&ﬂ?ﬁ% E%%?ﬁﬁ%ﬁ%%dﬁiﬂ%ﬁ
HHRHA AR ERTHGE REL T XEEXRFLAN: _RAERENFAREY
B #9828 E I, FEME L THEAXR BRI BHERINEL.

5. BN, fEEHNEREEN-IPRILIEAERENHSBHENRE, FEE
BHEERENFAZHENMER, HEREEEN T CAEREHHER, MERENT
THEETUENC R RASBBEEAR. SAMNEEFEAREE ANEMAE L,

R, RATRE CEFTRGAE L RB R TR, KW e WA B A
EE. FRMREFRE.

The passage implies that

What’s suggested by the author?

We can infer from the passage that

The passage is intended to tell us that

It can be concluded from the passage that
The paragraph would most likely state .
The author would most probably suggest that

X =N e W NN

The passage gives us the impression that

ﬁ%@#%ﬁﬂ infer, imply, suggest, conclude, intend, refer to, state, discuss, deal
with FRRHBTE AL, BER, E4AE— S NARREHER, TEEEERH, FREEE
EHBRE REEEXEFRIARBEURKHEE. SNTHER— RIS LENE LR
VoI EREXRBENTLBE AR EEEFEAAETEROBE SE. B .
BE. A%, KRR — KA, EEREE X EFTRBENEEZ LML BE 4.
B, ARREE LB = WE kN,

6. WIREA, ERRMIAS, EMBGE T GBS HEE X, &Y LSEFEITRAR
RACKHMAHSE. FHORYE,— B TR, WA BNEEE, F3EKE, EENRESE
MBI BT LN — e B R 3k, KA FE ST Y8R LU 22 NG R AN
5 B BRER AR GAR EX FER M BR. A S MEs, HEMSE BN
B‘J\Eﬁﬁf'?@\lﬁ]‘ﬁé@\ﬁﬁﬁﬁﬁxﬁﬁﬂﬁ\ﬁﬁ’!%\ﬁﬂﬁg‘E\%H‘Jﬁ%‘ﬁm%%°



HRHRAEERXSA

The tone of this passage is

The author’s view is .

Most probably the author intends to

The author gives the impression that

Most likely the author feels that

Which of the {ollowing can best describe the author’s attitude towards

The author suggests in the passage that

What’s the mood of the passage ?

k@ﬁ%i%&%*lﬁ]ﬁx;ﬁﬁﬁxﬂmﬁé%%ﬂB‘J{iﬁ? EEGERAEEN L LH
YIRFBH AR WA SE. HFHE—-LXEE, EWshE . BHARESRNER, eeltx
fEE R EN.

=\ MK REIG

1. 4B 3T PR B SR I 3R )

E—SBRT  EEEAEX IR LR ML RIE MU E LR — L HBT, RUUR SUARE X
B K A B BN . AT AR T R B A AR R R R SR R SR 0 A )
BT 12 1) 3] S, X PR 4 75 BB 7R B B “that is, i. e. , which means, which refers to, that can be
defined as, it implies that, is known as, is called, is considered to be” 2 ¥,

Example 1

The earliest authentic works on European alchemy are those of the English monk Goger
Bacon and the German philosopher St. Albertus Magnus. In their treatises they maintained
that gold was the perfect metal and that inferior metals such as lead and mercury were re-
moved various degrees of imperfection from gold. They further asserted that these base met-
als could be transmuted to gold by blending them with a substance even more perfect than
gold. This elusive substance wasreferred to as the “philosopher’s stone”.

The “philosopher’s stone” was

A. lead which was mixed with gold

B. an element which was never found

C. another name for alchemy

D. a base metal

(%R A B) “philosopher’s stone”LhE LB N“AE A", EEXFEBIEE. X HE
AEYRBHR A ELE”, 5 B —MAKERF BN TE M, MERT Y B,

Example 2

Imagine a world in which children would be the rules and could decide not only the out-
come of each and every occurrence, but also dictate the very structure and form of the envi-
ronment. In this world, a child’s wildest thoughts would become reality limited only by the
extent of his or her imagination. While such a world might sound both fantastic and frighte-
_ 6 J—



ning, at least from a logical, adult perspective, it does exist. What’s more, it has been in ex-
istence for some time and is populated by hundreds of thousands of children who spend hours
within its boundaries experimenting and learning. This world is not real, at least not in the
traditional sense, but exists within a computer and is generated by an educational programming
language called LOGO.

LOGO is

A. an education testing program B. a computer language

C. an information dispenser D. an unreal world
. (BERANB) LOGOXMN TREBELERRRE—FENEARRE, BHTXHFELHTE

SC, ZAETUBEE I LI HN.“. .. and is generated by an educational programming lan-

guage called LOGO” (--H#% LOGO MBERFEFTHE), TUEBR—-MITHANES,
BN BE#E B,

2. BRETXABRMARK

MIBXFRAERE,  BAFGHBEXRABEN. RALAAKE G FP, 84107
BEESHME, XTAFFRINO S, FETEL ETXRBEVEXFLZEAASHA
PHEEHRH AR PERAFEST L.

Example 1

Dorothea Dix left home at an early age — of her own free will — to live with her grandmother.

At fourteen, Dorothea was teaching school at Worcester, Massachusetts. A short time
after she had begun teaching, she established a school for young girls in her grandparent’s
home. Stress was placed on moral character at Dorothea’s school, which she conducted until
she was thirty-three.

The word “Stress” could best be replaced by

A. Emphasis B. Strain C. Relative loudness D. Physical pressure

BRI A) Bstress”"—HAFHE UK, 5 A, B, C, DU HIHNA KRB, HM L
TXHERE:

‘AL - BREFTANEAREEELFAEG—EAR.

ZEVL 14 SUBTHREMEFIFN—FTERL. EHNBHERA, REHL SR BN
BT —FZT#KR, GRAEEFFENERIAT LEATEAELRIBED 33 5.7

B. Strain“ & 7 ”; C. Relative loudness“# A ”; D. Physical pressure“ &k F B E H”, 5
SEBRERFENEEMITEX. T A. Emphasis“3RiE”, 5 F X, H%EE A,

Example 2

George Washington Carver showed that plant life was more than just food for animals
and humans. Carver’s first step was to analyze plant parts to find out what they were made of.
He then combined these simpler isolated substances with other substances to create new
products. .

In Line 2, the word “step” could best be replaced by



A. footprint B. action C. scale D. stair

(BERAB) step A — BN, EHEECESXPHEXLFTHEECEB LT XHERBHE:
“TRIE - B - FHIFHAMEDARENYMALHORY . NE— TP RESHEWHN
SUFBEMNBBATLAEAN. R MEXEFHFRH S EYRS KW RS BLHH ™
g ISR A , A. footprint“ I EN”; B, action“478) 7 ;C. scale” R F”;D. stair“fi ", &
B, actionF:31” 55 0" A X . Mt B W

3. REEREIRAMAR N

—BHEMEAGTURAEREABNER. FATUNAEACENARENGRAMEL
B, BESBETIEBNILSNAELEN, L.

Example

Most systems use synchronous satellites that stay in one position over the Earth. Syn-
chronous satellites are launched to an altitude of 22,300 miles. At this altitude, the satellite’s
revolution is synchronized with the Earth’s rotation. This means that the satellite completes one
orbit during the same length of time that the earth makes one rotation on its axis. Three of
these satellites, properly placed, can link stations in any two parts of the world.

It can be inferred from the passage that synchronous satellites are called “synchronous”
because

A. they can synchronize three-way transmissions to all parts of the world

B. each one rotates on its axis simultaneously with the Earth’s rotation

C. their orbits are perfectly timed to coincide with the Earth’s rotation

D. each one’s movements are synchronized to one-third of the speed of the earth

(BRI O RERNFLDRZFURNFELRE N ", XK 0 EH BN AE &K
FHKF, AXBENAZKRE, RINGTEZHRIER . “EX—WELIESHROER
B, ZRKE DEENELRBR—RETHENNAS R EMA%— 20K EEE."
RIS, R4 C. their orbits are perfectly timed to coincide with the Earth’s rotation
“ENMMPESHRAEFENR L E2BA"SEFX—H., FLE E4ANMBRTRE—X
BEHFEMHIR ETLUPEHER.

4. R 3T P RO 450 W W3R X

VR & B 5 7 3 2033 5 T P T A0 PR A0 St -+ 2 7 SR B 26 M L DS S R B T
B, EAETEAN— BB A AN FEANE R ANER, XFFAE%A like, as, for exam-
ple, for instance, such as, in such case ZiAERPIHF S X HEE.

Example

As many as one thousand years ago in the Southwest, the Hopi and Zuni tribes of North
America were building with adobe-sun-baked brick plastered with mud. Their homes looked
remarkably like modern apartment houses. Some were four stories high and contained quar-
ters for perhaps a thousand people, along with storerooms for grain and other goods. These
buildings were usually put up against cliffs, both to make construction easier and for defense
JR— 8 —



against enemies. They were really villages in themselves, as later Spanish explorers must
have realized since they called them “pueblos” (F§HE FiE : #14&) , which is Spanish for town.

The people of the pueblos raised what are called “the three sisters”— corn, beans and
squash. They made excellent pottery and wove marvellous baskets, some so fine that they
could hold water.

The author uses the phrase “the three sisters” in the passage to refer to

A. Hopi women. B. Family members,

C. Important crops. D. Main ceremonies.

(BERH O X PRI M “the three sisters” B FR-—M LM, 1 FAEEABITSHTTE
B ERHEENET ZMEYREFE . X . TEFME/N. FTL “three sisters” i £45“ &
BHIRED” . & XM KA C. Important crops,

5. HRIFXTEL . b B R0 IR T MR IT X

Xt HBREEEN —HEEFR. ATE - SHENBRBE—4EYR—MiE . 3 t
EEE TREVAE L EQZHIRARR; R M iE T REYAE X 6 64 F R
flZ 4t . ¥ f“like, as, but, yet, while, however, despite, in spite of, unlike” %17 %, 4
B 3B “and” 2“5 " E BB AN X R EB S

Example 1

Herons nest and roost in flocks, but hunt for food alone.

The word “flocks” in the sentence most probably means

A cycles B. groups C. threes D. dens

(ERHB FHBH - TRABBALOEE, BRAMBER. Bu P NRIER
THFEX X X R in flocks B A EFERIE BN “nest and roost”, alone h Bl A R AR
BB “hunt”, Alone“SMi”, 5 flocks BN M, B BN “ RBEHL” . ZEPOANEET b, A, cy-
cles“ B # ; #E3”; B. groups“B¥, 41 ”; C. threes“= A Y (—4)”;D. dens“/¢, E”, B4R,
B. groups 55 alone MRS BAMXT LXK, HM B Y ERERK.

Example 2

The long-eared owl is found only in North America; the short-eared owl is ubiquitous,

In the sentence the word ubiquitous is most probably means,

A. nocturnal B. endangered C. widespread D. omnivorous

(ERN O RN KISk Mt £ A 8ER P, 755 55 L M T AL R 76, HH A
HIERIS 4 FF 894> B LA K long-eared owl # short-eared owl RETHBENNHER, Ta
F#J4R¥E only in North America HRT3RR T 4T B 49 /3 B4 STURMMZER L AR S
3 28 5 B R PR AR X ST AR . #E BRI A . A, nocturnal“% B f9” ; B. endangered“ 3% B f5 &
#9”;C. widespread“# # i) ” ; D. omnivorous“Z¢ & #”, C MEERDHER, WEREE, i
ubiquitous )& LN “HRFFLER , TAL REERY”,

6. HRITE MMM N
Dﬂﬁ*iﬁ@]ﬁﬁiiﬂﬁﬁiﬂb)iﬁfﬁﬁE‘.-"FN%@Jm%%ﬂﬁiﬁ&iﬂl,ﬁjﬁﬂﬁﬁﬁﬂa‘%&\%
J— g f—



A LANBERER BRSEK BEBRAIRAESEE.

Example 1

When carbon is added to iron in the proper proportions, the result is steel.

The word “proportions” in the sentence most probably means

A. container B. sequence C. laboratories D. amounts

(& %3 D) X H proportions AW E KL, MAENEIM P A. container I B. se-
quence 3 BB R, C. laboratories # D, amounts I E B R . H4 A LIE A AL E HX
—iESEARE L A M BiMUHER . 7 C #1 D &, C. laboratories“3L K % 7, D. amounts “¥
B, 58", proportions & “MH i, K/, lBl”, 8 D SR EE.

Example 2

Tranquilizers are often used in the treatment of tension.

The word “tension” in the sentence is most closely related in meaning with

A. stress B. headaches C. broken bones D. muscle spasms .

(BRHF A &1 tension ERARRK"ZEM B AR THAZIT, BAEM“s”., EIF
C. broken bones i D. muscle spasms ¥ B Z WKW EBHE R, 80T 5 EHE. A. stress“K
%", FE BB R, 5 tension FERFHIE LB X LM,

Example 3

Current hiring policies in the United States seek to provide equal embloyment opportuni-
ties for women and minority groups.

The word “provide” in the sentence most probably means

A. furnish B. demand C. confirm D. continue

(&R A) provide ERIEP B EEEIE X — N provide sb with sth 5 provide sth
for sb, FTEA B 2 provide sth for sb, 4 A~ %M, BF A. furnish 7] A# K5 provide [&j &
RIFEBLFE 2 : furnish sb with sth, [ERf M & XK F: A, furnish“Rfit LR ” 5 provide [F] X,
M D. demand“fF/EE ,ZR”;C. confirm“HL#E . ﬁE%” D. continue“ffi k4", ¥ 5 provide B X R
BN A

7. RBEIFDE ALE MR A X
KE VB R FH R U BH 1A S, i [R) Az 7 U 2 A T SCAR R 89938 S, B A 3% A T 4 B 8 B SR E AL B R

HiEl . SIERAMETRHEBESRBEITS, T LI Hor, that is, in other words” &K & £,
Example 1

Alaska boasts of several climates due to its lofty mountains, warm ocean currents, and
frozen seas.

The word “lofty” in line 1 is most closely in meaning with

A. towering B. countless C. rugged D. ageless

(ERN A AT lofty 71X B FIfE E B B mountains“ll, ILfk”., E—HHERT . B
WWTRERRE N HEKEBN BEMN. 754 DETH A towering“ U5 LK R K7
B. countless“ TTHAY” ; C. rugged“ A ¥ ) MUK B 7 ; D. ageless“ KM FAEM”; R A. tow-

ering Z£% X 885 mountains MI# B, M lofty A X R“BEHN . BEN” . A W FREER.



Example 2

The others questioned the veracity — the truthfulness — of these reports.

EFAH, B 23 veracity HEXERESR, RO RENKIT S Z [ & [ L E
truthfulness 8 & K" E I8 1 veracity RS, EWA“HE”.

8. RIBHIR ZMAIT X
ERAFEWEAE B EERSOTRFENES, B EF 270X, KR8 iR
B, [F] 07 AR R e, R M 1R, AT LS B AR RO & S, A BB AT AR R SR A W 17) 5,
(EPRRNVANC R T E . 245 E B AR A 17 10 3 P B B0 A0 88 7] hn 80 48 9 BR, 19 O
418,
PGB T H B ARFE P LS, ERMAEWRMREACEIEIN—IEE
HBEER S
o IEMIEE
(1) ¥4k (Conversion) : B —Fp i I 51k K B —Fhid 25, &t .
watch(3h) MF — watch(L) £
chair(3l) FH — chair(fK) BT
(2) A4 (Derivation) ; fNRTJG EH R 5 — A8, B0 .
un- (A, 3E, %) — unfair RAFEH; unlimited TR AY
(3) f M (Compounding) : BB RE L HIAER— 7, M.

%17 + 417 silkworm &

AW + AR double-dealer %5 & JE
A + 46 sleepingpill ZiIRZY
B + &Zid pickpocket I\ F

o RIFHTE RIRF#17)
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Example 1
In the United States senatorial race of 1858 Abraham Lincoln was the Illinots Candidate
of the new Republican party, a coalition of antislavery groups.
The word “coalition” in line 2 could best be replaced by
A. a benefactor B. an opponent
C. a forerunner D. an alliance
(BRH D) M1 coalition HI/G -tion KA, ZIAABR MBS H LT, £IA4
B H : A. a benefactor“i§ B A”F1 C. a forerunner“ SE M E "G & -or M -er R R AKE
SHIBI, EERIEA;B. an opponent“Xf F &R R AR K Z A BT H#E. D. an
alliance“Bk 31 "B /G & -ance RFAARBRAMB MM LA, T EZ D M N EHE R, coalition
BhBH.
Example 2
Maria Callas became one of the world’s most widely known opera singers because of her
musical talent, acting ability, and fiery disposition,
The word “disposition” in the sentence can most probably be replaced by
A. voice B. producer
C. reputation D. temperament
(BERAID W EEHR,GE-tion RAMBESHZ A, BEN RIS ,-ment L2 F
AHMRLENEH, T A, voice“TEH " B. producer“#lt &7 N BRIk & T, THKR . ZRN
# C. reputation®#% 7”1 D. temperament“¥: 1”2 |6 #% %, i F disposition B i Y7 &7 fi-
ery BR“KBH MAUM”, RREF A reputation, B HEBR . 2% ¥ D. temperament, 5 dis-
position “#E1E”[E X,
Example 3
Native New Yorker Catherine Malfitano was chosen by the Paris Opera for the title role
in its 1984 production of Manon, which marked the opera’s centennial,
The word “centennial” means most probably
A. hundredth anniversary B. final performance
C. revival D. premiere



(BERH A ZEWMAT M centennial FESBHAE cent- EREBEBHFFNAE”. 44
¥+ : A. hundredth anniversary“— & B4 43:& H ”; B. final performance“# /5 M 1 ”;
C. revival“Z #5”;D. premiere“#JK”, HH A 5H% cent- ZR X LHF BV ERER.
centennial B A“—FHREAEL S,



